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Using the Identity and Inverse to Write Equivalent

Expressions

1. Find the sum of 5x + 20 and the opposite of 20. Write an equivalent expression in standard form. Justify each
step.

2. For 5x 4+ 20 and the multiplicative inverse of 5, write the product and then write the expression in standard form, if
possible. Justify each step.
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1. Fillin the missing parts.

The sum of 6¢ — 5 and the opposite of 6¢
(6¢c—5)+ (—6¢)

6¢c + (—6¢) + (—5)

Rewrite subtraction as addition

0+ (=5)

Additive identity property of zero

The product of —2¢ + 14 and the multiplicative inverse of —2

(~2¢+14) (=)

20 (-3 + (-}

Multiplicative inverse, multiplication

lc =7 Adding the additive inverse is the same as subtraction

2. Write the sum and then rewrite the expression in standard form by removing parentheses and collecting like terms.

6andp —6

10w + 3 and -3

—x — 11 and the opposite of —11
The opposite of 4x and 3 + 4x
2g and the opposite of (1 — 2g)

3.  Write the product and then rewrite the expression in standard form by removing parentheses and collecting like
terms.

a.
b.

c.
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7h — 1 and the multiplicative inverse of 7
The multiplicative inverse of —5and 10v — 5
9 — b and the multiplicative inverse of 9

The multiplicative inverse of% and 5t —%

T 1 1 1
The multiplicative inverse of — ——and

10x“ " 10x 10
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4.  Write the expressions in standard form.

a. i(4x+8)

b, =(r-6)
4

c. g(x+1)

d. %(2x+4)

e 2(sx-1)

f. %(10x—5)—3
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Find the sum of 5x + 20 and the opposite of 20. Write an equivalent expression in standard form. Justify each
step.

(5x +20) + ( —20)

5x+ (20 + (—20)) Associative property of addition
5x+0 Additive inverse
5x Additive identity property of zero

For 5x + 20 and the multiplicative inverse of 5, write the product and then write the expression in standard form, if
possible. Justify each step.

(5x + 20) (é)

(5x) (%) + 20 (%) Distributive property
1x+ 4 Multiplicative inverses, multiplication
x+4 Multiplicative identity property of one

Fill in the missing parts.

a. The sum of 6¢ — 5 and the opposite of 6¢

(6c—5) + (—6¢)

(6c+ (=5)) + (—=6¢) Rewrite subtraction as addition
6c+ (—6¢) + (—=5) Regrouping/any order (or commutative property of addition)
0+ (-5) Additive inverse
-5 Additive identity property of zero

b. The product of —2¢ + 14 and the multiplicative inverse of —2

(—2¢+14) (—%)

(=2¢) (— %) +(14) (— %) Distributive property

1c+ (=7) Multiplicative inverse, multiplication
1c -7 Adding the additive inverse is the same as subtraction
c—7 Multiplicative identity property of one

Write the sum and then rewrite the expression in standard form by removing parentheses and collecting like terms.

a. 6andp—6

6+(p—6)
6+(—6)+p
0+p

P
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b. 10w + 3 and -3
(10x + 3) + (—3)
10w + (3 + (—3))
10w + 0

10w

c. —x — 11 and the opposite of —11
(—x+(-11)) + 11
—x+ ((—11) + (11))
—x+0

—X

d. The opposite of 4x and 3 + 4x
(—4x) + (3 + 4x)
((—4x) + 4x) +3
0+3
3

e. 2 g and the opposite of (1 — 2g)
2g+(—(1-29)
2g+(—1) +2g
2g+2g+ (—1)
49+ (1)
4g —1

terms.

a. 7h — 1 and the multiplicative inverse of 7
1
(7h+ (1)) (7)

G+ (G)ew
1

h——=
7

b. The multiplicative inverse of —5 and 10v — 5

(—%) (10v — 5)

(o ()

—2v+1

3.  Write the product and then rewrite the expression in standard form by removing parentheses and collecting like
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c. 9 — b and the multiplicative inverse of 9

©+e»)5)

G +()en

1 1 b
"9
1 1
d. The multiplicative inverse of 1 and 5t — 1
1
4 (St - —)
1
4(50) + 4( 1)
4
20t —1
1 1 1
e. The multiplicative inverse of ———and — — —
10x 10x 10
(“10 )( 1 1 )
7\ 10x " 10
(100 (=) + (100 (- =
S (10x) 0 (_ 10)
-1+x

4.  Write the expressions in standard form.

1
a. Z(4-x + 8)

1 1
) (4x) + ) (8)

x+2

b. ﬁ@_@

1 1
5 )+ 5 (—6)

—-r—1
6

c. g(x+1)
4
5
4 4

5535

4
EORRIe)
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1
d. E(Zx +4)

! 2 14
@0+ @

1.1
372

3
e. Z(Sx -1)

3 3
FE0+5 D

15 3
2572

f. %(10.\7—5) -3

%(IOx) +%(-5) +(-3)

2x+ (-1)+(—3)
2x—4
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